1-4
Identity and Equality
Properties




additive identity:
mrony # @, 0+t0=q



mulitiplicative identity:

for ony # o, a-l=a.
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multiplicative property of zero:

Forany #a, 0-0=p
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multiplicative inverse:

For ang# (a b:fzo)
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reflexive: 0= a
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symmetric: [+ a=bJ then b=g4

(0= X+
K+2=|0
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transitive:

HC 2=b ond |0=C} -[—hen A=C.
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substitution:

I a=b, then & May be regaced
by b in any expression

Hn=19 2n=3 15
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Homework:

1-4 WS

#1 - 14 find "n"
#1 - 8 name the property
#15 - 20 simplify, no properties



